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Ritp:/ffarbe i tu-berlin.de/BEZ3/BEZ3LONA. TXT 1.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

CIELABN3 standard lightness I*

* Yoc=Yw  nc=100,

I* CiELABN3 =100 (Y/Y) Y201 (¥,=100,¥,,/100<Y<=Y, )
1* \(3,6)=20,I* ,(18)=43,I* \/(90)=95

1* 95=94,90,y=2,0, 14=1/2,0=0,50
I*16=42,87 $,=99,21 D,=0,78
*3,6=19,56 [4=42,87 ¥=18

Iog[l* 1I* LI]:0 m,=0,49 z —
application
range

'v,=18
1 Yy, =90

CIELABN3
tristimulus value difference
Yoe=Yw - nc=100,

I CiELABNa =100 (Y/Yp) 201 (Y;=100, Y,/ 100<Y<=Y, o)
log(dY) = (1/2,0) log[2,0¢,/99)] + [1~(1/2,0)] log¥)

dYg=4,75 $799,21 D,=0,7

1

1

1
dYeo=10,6,4=2,0, 14=1/2,0=0,80
dY¥z¢=2,11 ;=100 dY;=4,75 '

application
ange

Yy 18
Ya=3.6 1Yw=00 |

log (AY/Y) CIELABN3
S=(AYIY) tristimulus value sensitivity

Yoc=Yw nc=100
I CiELABNa =100 (Y/Yp) 2041 (Y;=100, ¥, /100<Y<=Y, o)
log(@dY/Y) = log[2,0(/,/99)] - (1/2,0) log¥/Y,)
= (1/2,0) log[2,0¢,/99)] - (1/2,0) log{)

application
I* =43, dY,=4,75 dYu/YL,:O,2639 I Sefange
1
(dY/Yy=0,1180=2,0, 1§=1/2,0=0,50
(dY/Y)=0,2639 §=99,21 D= 0l78
(dY/Y} 60,5888 Y,=10Q d¥,=4.¥
'Y =18

YN=36 1 Yw=90

CIELABN3
tristimulus value contrast
Cr=(viay) Yo=Yy grne=100
I CiELABNa =100 (Y/Yp) 2041 (Y;=100, Y,/ 100<Y<=Y, )
log(Y/dY)= - log[2,0/,/99)] + (1/2,0) log{/Y,)
= (1/2,0) log[2,0¢,,/99)] + (1/2,0) logy¥)

= 1
(Y/dYy=8,47,y=2,0, 14=1/2,0=@,50
(Y/dY)y: 8 §= 99,2 D,=0,78 application
(Y/dVg6=1,69 Y,=100 d¥;=4,75 range

1Y,=18
Ya=3,6  Y\y=90

CIELABNS relative standard lightnessI*/I* ,
I Yoc=Yw - nc=100,

I CiELABNa =100 (Y/Y) 2041 (¥;=100,Y,/100<Y<=Y,0)
I y(3,6)=20 1* ,(18)=43,I* ,(90)=95

Iol 2 21 Y=2,0, 1§=1/2,0=0,50
I* 1g/l* =1,00 $=99,21, D,=0,78
* 3. _o 45 *=42,87 ¥=18

log[i*/I* ]=0, m,=0,49

log(AY/AY,) CIELABN3 relative

tristimulus value difference
NNy Yoc=Yw - nc=100,
I CiELABNa =100 (Y/Y) 2041 (¥;=100,Y,/100<Y<=Y,0)
log(dY/dY,) = [1~(1/2,0)] loglf/Y,)

dYeo/dY,=2,23,y=2,0, 14=1/2,0=0,50
dY;/dY,=1,00 $=99,21 D,=0,78
dY3,¢dY,=0,44 Y,=100, dY=4,75

=43, dY,

application
nge

1y,=18
VN=3601 Y =90 W

log [(AY/Y) 1 AYIY),] CIELABN3 relative
tistimulus value sensitivity

SIS =(AYM)I(AYIY), Yoc=Yw =100

nc
I CiELABna =100 (Y/Y) 2041 (¥;=100,Y,/100<Y<=Y,0)
logl(dYM)/(AY/Y),] = - (1/2,0) logi/Y,)

(dY/Yp(2V/Y)=0,44,y=2,0, 1§=1/2,0=0,50
(dY/YYg/(dY/ Y =1,00 §=99,21 D=0,78
(dY/Yy J(dYIYi=2 RYn 100 dY=4,73

I* =43, dY,=4,75 dY,/Y,=0,2639 |
1y,=18

YR=3.67 Ya=90 T

log [(Y/AY) 1 (YIAY), )] CIELABN3 relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

I GIELABNa =100 (Y/Y) 2041 (¥;=100,Y,/100<Y<=Y,0)
log[(Y/dY)/(Y/dY),] = (1/2,0) logiY/Y,,)

(Y/dY)yo/(Y/dY)=2,23,y=2,0, 1=1/2,0=0,50
(Y/dY)g/(Y/dY)=1,00 §=99,21 D,=0,78
(YIdY},(Y/dY)=0,44 Y,=100 d¥=4,75

logI(Y/dY)(Y/d\J=0, =050 -~

application
range
1y =18

Yw=90

CIELABN3 standard lightness L*

L* Yoc=L*w - nc=100

L* cieLagna =100 (YY) Y2041 (¥,,=100, Y,/100<Y<=Y,)
L*n(3,6)=20,L* ,(18)=43,L*(90)=95

L*9g=94,90y=2,0, 1/=1/2,0=0,50
L* 142,87 §=99,21 D,=0,78
L*3=19,56,[%=42,87 =18

log[L*/L* ;]=0, m,=0,49 o —
application
range

'v,=18
1 Yy =90

BEZ31-1A

logAY) CIELABN3
AY tristimulus value difference
Yoc=L*w - nc=100,
L* CiELABna =L00(Y/Y) Y2041 (¥,=100, Y, /100<Y<=Y,o)
log(dY) = (1/2,0) log[2,0¢/99)] + [1~(1/2,0)] logY)

L* =43, dY,=4,75 dY,/Y,=0,2639 _ = ©

-

1
1
1
dYe=10,62,y=2,0, 14=1/2,0=0,80
dY;g=4,75 §=99,21 D=0,78 |

application
dYz 6=2,11, Y,;=10Q dY=4,75 ange

Wy 18
YN=3.6 1Yg=90 .

BEZ31-3A

log AY/Y) CIELABN3

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’
L* CiELABna =L00(Y/Y) Y2041 (¥,=100, Y, /100<Y<=Y,0)
log(@Y/Y)= log[2,0(Y,/99)] - (1/2,0) log¢/Y,)
= (1/2,0) log[2,0¢,/99)] - (1/2,0) log{)

e O 50 < application
L* =43 dY,=4,75 dY,/Y,=0,2639 | Ry \rang

(dY/Y)5=0,1180y=2,0, 11,—1/2 o_o 50

(dY/Y)=0,2639 §,=99,21 D=0178

(dY/Y} 6=0,5888 Y,;=10Q dY=4.¥5
'v,=18

YN=36 1 Yw=90

BEZ31-5A

log (Y/AY) CIELABN3

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’
L* CiELABna =L00(Y/Y) Y2041 (¥,=100, Y, /100<Y<=Y,o)
log(Y/dY)= - log[2,0{,,/99)] + (1/2,0) log¥/Y,)
~ (1/2,0) log[2,0¢,/99)] + (1/2,0) logY)

L* =43, dY,=4,75 Y,/dY,=3 e

I
(Y/dYy= ,50
(Y/leg— application
(Y/dY} =1 =4, range
1Y,=18
Ya=3,6  Y\y=90

BEZ31-7A

BEZ31-7N

TUB-test chart BEZ3; CIELABn3* & L* for Y/Y, with additional dataYn =
Absolute and relatlve lightness, sensmwty and cont&s199,21, 1y=1/2,0=0,50

CIELABNS relative standard lightnessL*/L* ,
LHIL* Yoc=L*w - nc=100,

L* ciELABna =100 (Y/Y) Y2041 (¥;=100,Y,/100<Y<=Y,0)
L* y(3,6)=20,L* ,(18)=43,L* y(90)=95

L*gg/L*=2,21,y=2,0, 1§=1/2,0=0,50
L*1¢/L* 1,00 $=99,2] D,=0,78
L*3 gL*=0,45,L%=42,87 ¥=18

log[L*/L* ,]=0, m,=0,49

BEZ31-2A

log(AY/AY,) CIELABN3 relative
tristimulus value difference

AYIAY, oozl r gy 100,

L* CiELABna =100 (Y/Y) 2041 (Y;=100,Y,/100<Y<=Y,0)
log(dY/dY,) = [1-(1/2,0)] log¥/Y,)

dYeo/dY,=2,23,y=2,0, 14=1/2,0=0,50
dY;/dY,=1,00 $=99,21 D,=0,78
dY3,¢dY,=0,44 Y,=100, dY=4,75

1 application
1 nge

1y =18
NN=3601 Y =90 T

BEZ31-4A
log [(AY/Y) | (AYIY),] CIELABN3 relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
L* CiELABna =100 (Y/Y)) Y2041 (Y;=100,Y,/100<Y<=Y,0)
logl(dYM)/(AY/Y),] = - (1/2,0) logi/Y,)

(dY/Yo/(dY/Y)=0,44,y=2,0, 14=1/2,0=0,50
(dY/YYg/(dYiY=1,00 §=99,21 D=0,78
@YYy @YYz Yn 100 dY=4,73

log[(dY/YY(dY/Y),J=0, m,=-0,50 1 N
L* =43, dY,=4,75 dY,/Y,=0,2639 | !
A5 £:100y
YR=3.67 =90 T

BEZ31-6A
log [(Y/AY) I (YIAY),] CIELABN3 relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nC
L* CiELABna =100 (Y/Y) 2041 (Y;=100,Y,/100<Y<=Y,0)
logl(Y/dY)/(Y/dY),] = (1/2,0) logiY/Y,,)

(Y/dYbOI(Y/dY), 2 23 rz 0, 1xr1/2 0=0,50
(YA ) g/(YIdY)= 9,21 D,=0,78
(Y/dY, d(Y/dY o 44 Yn 100 dy=4, 75

application
range

NNE3601 Ya =90 T
BEZ31-8A
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